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Chapter : Chemistry

(1) What are isobars?

FHATRE FT 81 &7

SSCCGLO8AUG-S3 : 40

(a) Elements with same atomic number but different
mass number/Qd ded fSIeTehT TRATY] HEIT FHAT Bicll &
AT g AT et grar

(b) Elements with different atomic number but same
mass number/XH dcd fSeTehl TRAT] €T ffieet Blcil &
WIfeheT GeTHTeT GHIA 81T &

(c) Elements with different atomic number and
different mass number/Q¥ ccd fSteTehl GR&ATT] HE&aT
f31e=1 gYchT & 7T gearaTet fiewt gl &

(d) Elements with same atomic number and same
mass number/@ﬁmwmwﬁ?ﬁ%

TUT GTATH HATA BIelT &

(2) Process of loosing electrons is known as .

SAFCI TeTel A P IBRATH e B
SSCCGL10AUG-S1: 40

(a) oxidation/3iTergTaRToT

(b) reduction/319TIeT

(c) radiation/fafertoT

(d) both oxidation and reduction/3iTeFdIa0T 2T
3T Gl

(3) Anions are formed by ____.
FOMAA ____ @RI SAd &
SSCCGL10AUG-S1 : 41

(a) losing of electrons/Zoerelal JeTeT
(b) gaining of electrons/galagieT ITfeaT
(c) gaining of neutrons/m‘\uﬂm
(d) losing of neutrons/m;?-r‘;la'l?r

(4) Which among the following is the major cause of
acid rain?

AT T 7 & 3T a1 HET HROT 77 87
SSCCGL10AUG-S1 : 42

(a) Carbon dioxide/ahIs=T STS3iFASS

(b) Carbon monoxide/aTeeT AIAITFATSS

(c) Nitrogen dioxide/=TTSgIsTel SIS31TFATSS

(d) Oxygen/3itereiTstet

(5) At what temperature (in Fahrenheit) pure water
freezes?
JICH STel fohdl TTIHTET (BRAETST H) T ST STl 87
SSCCGLO8BAUG-S2 : 38
(a) 32 (c) 48

(d) 37

(6) Process of gaining electrons is knownas ____.
Zolarglel T UTC il hT UfhaATHI _ Fed gl
SSCCGLO8AUG-S2 : 40

(a) oxidation/3iTereeRIoT

(b reduction/319ddeT

(c) radiation/fafertoT

(d) both oxidation and reduction/3ifergTeRIoT 2T
3T =it

(7) Which of the following metal (shown by its symbol)
is generally used for making filaments of bulb?

e Ed & & shist € 1 (319 Fie=t & geifar aran)
I THATI: Tod I dr] AT THATHE Tl 7 3TANT

grarg?

SSCCGLOSBAUG-S2 : 41

(a) Fe (b) An (c) Ag
(d) W
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(8) What is the common name of CaOCl,?
CaOC|, 3T AT ATH FT 87
SSCCGL11AUG-S3: 40

(a) Baking Powder/SfehaT U138

(b) Baking Soda/af3er @sT

(c) Bleaching Powder/selifzier 91383

(d) Washing Soda/ieY aT HIaT

(9) What is the common characteristic of the elements
of the same group in the periodic table?

3TereT ARON F FHAT deal & FHg T A faRrer

FIAT BT 87
SSCCGL11AUG-S3 : 41
(a) Electrons in outer most shell/sTeadd ey &

golgilel

(b)Total number of electrons/del FeIFglal &l FEAT
(c) Total number of protons/@el Helal &I FEar

(d) Atomic weight/tl'{?qTU;r X

(10) The process of depositing a layer of any desired
metal on another material by means of electricity is
called

ﬁagaaﬁmﬁaﬁwéwma@?ru@rﬁw

eI et 1 Ufshar I a7 Fgd 87
SSCCGL21AUG-S3 : 41

(a) Electroplating /ﬁagaﬁq?r

(b) Galvanisation / J2UE oITeT (SedATEoIee)
(c) Rusting / ST9T oTaTeAT

(d) Crystallisation / fshEcelteroT

(11) A change in which one or more new substances
are formed is called

gg IRAd T Teh AT Tk A ATF AT 9ere de7d &
___ gerdrgl

SSCCGL22AUG-S2 : 40

(a) Physical Change #ifas aRader

(b) Chemical Changedrarafae gRadsT

(c) Rusting STaT oT3TeAT

(d) GalvanisationTeIg aiueT (IedaTsaiere)

(12) The property of metals by which they can be
beaten into thin sheets is called .
3T 2T 0T ToTeh HROT 3¢ Wea 2he # aRafda
RAT ST AHRATR, _ FEedi gl

SSCCGL22AUG-S2 : 41

(a) ductilitydeadr
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(b) malleability3TraTdaeieiar
(c) viscosityITeTdr
(d) tensile strengthdeTel-ATHZY

(13) Which among the following metal is used for
galvanization?

RroTelt & a1 et 1 R 3T dreaeiiamor
Tt Ee & Tohar &1 T ST T STl 87
SSCCGLO5AUG-S3 : 40
(@) Zinc / ST&EAT

(c) Iron / oNgT

(b) Copper / dtaT
(d) Silver / =ér

(14) What is dry ice?

T % AT 315 TS FAT 57

SSCCGLO5AUG-S3 : 41

(a) Solid Carbon dioxide / 3T FIaT B3 TFASS

(b) Solid Nitrogen dioxide / 3T ATSgIole STSHTFATSS
(c) Solid Sulphur dioxide / 3 HeWh STS3HTFATSS

(d) Solid Water / & STt

(15) Which of the following is a characteristic of an
exothermic reaction?

frafaf@a & @ i @ IsaArardr faferar Hr favar g?
SSCCGL10AUG-S2 : 40

(a) Release of heat3SHT T IcHoTeT

(b) Absorption of heat3SHT T @=ATHOT

(c) Doesn't involve any change in temperaturedTd&TeT
H P15 aRkacie =181

(d)None of the option is correct®s 8t deheT TG AGT
J

(16) What is the chemical formula for Sodium Chloride
(Salt)?
ST FRTSS (FHF) T WS FF FAT 57
SSCCGL10AUG-S2 : 41
(a) NaCl, (b) NaCl (c) Na,Cl

(d) Na.C

(17) Most liquids that conduct electricity are solutions
of acids, basesand .

Tt =TereT el aTel JTRIhTer &d 3T, &TRehT 3R
R aa gl
SSCCGL17AUG-S1 : 40
(a) Copper/aTax

(c) Salts/erguit

(b) Aluminium/Tegefags
(d) Iron/<lgT

(18) Which base is present in milk of magnesia?
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ferar HTIRITH & hisl AT &7 YT ST 87
SSCCGL17AUG-S1 : 41

(a) Magnesium hydroxide/H7=NTRII# grsgreraTss
(b) Ammonium hydroxide/3 13 grSgreFaTSs
(c) Sodium hydroxide/a 3T+ gr33FATSS

(d) Calcium hydroxide/h Tz gragrerarss

(19) Which of the following bonds are weakest in
nature?

RTRT # O 998 FASR U ST ATE?
SSCCGL09AUG-S1: 40

(a) Single bond / Tehel §%T

(b) Double bond / &lgdT sier

(c) Triple bond / TgRT &1

(d) Hydrogen bond / gT83IT §'&T

(20) In the following reaction, fill in the blank.
Acid + Base — + Water

FATTT ARfRIT 7 Rerd T 131
FT+8RP —> _ +Trer
SSCCGLO9AUG-S1 : 41

(a) Carbon dioxide / =T SE3TFASS
(b) Metal Oxide / Heer 3TFASS

(c) Hydrogen Gas / gT88IoTeT 31

(d) Salt / dAHsR

(21) A radio-active substance has a half life of six
months. Three-fourth of the substance will decay in

Tes W3-t g T 31T 3 6 AT 1 T H M-
Tters Rear A s gem

SSCCGLO9AUG-S2 : 40

(@) Six months / &: HAIg

(b) Ten months / && HATg
(c) Twelve Months / SIXg HATg
(d) Twenty four mon / Tte ATE

(22) pH of the human blood is _____
ATTFGIFNTT.__ FArT gl
SSCCGLO9AUG-S2 : 41

(a) Slightly Acidic / e 37l

(b) Highly Acidic / 311 35

(c) Slightly Basic / &3 &I

(d) Highly Basic / 3781 &T{rr

Free Study Material Join: Telegram.me/ExamsCart

(23) What is nature of pH of Milk?
g o oI, T, T Tepl T 87
SSCCGL11AUG-S1:40

(a) Slightly Acidic / &TaT 37&eirar
(b) Slightly Basic / 23T TR

(c) Highly Acidic / 3Tt 31eeil
(d) Highly Basic / 37cafie &Tr

(24) What is an exothermic reaction?

T FSATETAT 9fafehar am gicr 82
SSCCGL12AUG-S1:40

(a) Reaction in which heat is released. / 9fafsrar forasy

oAT fgAmfaa e &1
(b) Reaction in which heat is absorbed. / gfafsar
S St rgaa @ g1

(c) Reaction in which neither heat is released nor

absorbed. / wfafsrar fF9d o a Fvar fARa adr g
3R o & Jra N g 8|
(d) None of these/ S8 § &S TTgT

(25) What are the main components of Brass Alloy?
Aol fAS 4T T 7T T i I &7
SSCCGL12AUG-S1 : 41

(a) Copper and Zinc / dlsT T STEAT

(b) Copper and Strontium / ciieT cTT ATOTT

(c) Copper, Zinc and Nickel / ATaT, SIEAT AT fo¥eher
(d) Copper and Nickel / aTaT q2T faeher

(26) What is the common name of Sodium
Bicarborate?

ATSTH STSHTa AT ST HTEIUT ATH FT 87
SSCCGL12AUG-S2: 40

(a) Baking Soda / WTet & AT AT Sfhar AYST
(b) Washing Powder / &93 &ileT ST 4135T
(c) Plaster of Paris / ToTEY 31T 9T

(d) Fly Ash / 35+ T

(27) Which of the following is an ore of iron?
ReIfAT@d & & ST AT U g FT 37TEH g7
SSCCGL12AUG-S2 : 41

(a) Dolomite / Srel#ATEE

(b) Epsom Salt / T sTH7h

(c) Siderite / ANg-3oal
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(d) Galena / 3TI=IT IT ATROT SheaT HIET

(28) What is an endothermic reaction?

Teh FeATIYT gfafehar & gt 87
SSCCGL10AUG-S3: 40

(a) Reaction in which heat is released / Tfafsrar fGas
o fgmRa @ &1

(b) Reaction in which heat is absorbed / 9fafsrar
Sra# FeAT g g 2|

(c) Reaction in which neither heat is released nor
absorbed / wfafshar foras o af a7 IAIRIT g g
AR & s g &

(d) None of these / 58 & IS 61

(29) Which of the following is an ore of Aluminium?
e e 7 @ et sregeiaes i e &7
SSCCGL10AUG-S3 : 41

(a) Galena / 3Tel=T AT ATEROT ShedT HIHT

(b) Cryollite / STATTSC

(c) Cinnabar / R

(d) Epsom Salt / T 5T

(30) Which of the following gas was released during
Bhopal gas tragedy?

RrTfafaa & 9 forw 39 =1 REe ddre 39 sy &
W@'}H ar?

SSCCGL10AUG-S3 : 42

(a) Methyl isocyanate / TSl JTSAASAC

(b) Sodium isothiocyanate / AIf3T# 3MEARITAGC
(c) Nitrogen isothiocyanate / siTS¢IsTel

IES BRI E

(d) Potassium isothiocyanate / GTeTRITeT

HEERAEEAT

(31) Which of the following cannot be beaten into
Sheets?

At & ¥ fFY arex & 3R & uRafda =gt
[ERIRIR:CIY
SSCCGL12AUG-S3 : 41
(a) Gold / |YaT

(c) Potassium / Q1R
tegAfaga

Pl

(b) Silver / TT&r
(d) Aluminum /

(32) In which industry Potassium Nitrate is used
commercially?

Free Study Material Join: Telegram.me/ExamsCart

QrefRITA ATSEC HT 39T SATGATAS F9 § fohd 3T
H forar STar 82

SSCCGL11AUG-S2: 40

(a) Glass Manufacturing et & fa&ToT &

(b) Electroplating faegd-adet &

(c) Fire Cracker Manufacturing ger@t & fa#fTor &

(d) Leather Industry THST 36T H

(33) Which of the following is not an example of
Allotrope?

Arfafad & & Sl 1 U IRT (TATSIT) T 30T
oTeT &7
SSCCGL11AUG-S2 : 41
(a) Diamond &RT

(c) Ozone 3Nl

(b) Graphite AT
(d) Steel Eror

(34) Which of the following is the most abundant
metal on Earth's crust?

fRrfaf@d & & #la ar erq g 1 uddr & gea
SR FHTAT # 9T S 67
SSCCGLO9AUG-S3 : 32
(a) Magnesium HIATTRIZ
(c) Copper GIGI
egHifags

9

(b) Iron oigT

(d) Aluminium

(35) Soil having high content of aluminum and iron
oxide is also known as __.

ITCHANTATH TUT IR JHFATSS o e Tereh AT dlell
Ferw _ dragdagl
SSCCGLO9AUG-S3 : 33

(a) meadow soil IRT3ME HeT
RECERE/Cl

(c) chernozen soil ﬂ?ﬁ@{ﬂﬂa
REEICE G

(b) pedalfer soil

(d) podzol soil

(36) Which of the following is an Inert Gas?
fArfaf@d # @ i @ e AT Fa &2
SSCCGLO9AUG-S3 : 40
(a) Hydrogen gT8gIsteT
AT

(c) Oxygen 3itardistet

(b) Nitrogen

(d) Argon 3T

(37) Ozoneis an of oxygen.
3G 3iTFETSTeT FT Th gl
SSCCGLO9AUG-S3 : 41

(a) Allotrope 39%q (b) Isotope THEATAH
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(c) Isobar TEATRF

(d) Isotone HHIEIfoleh

(38) What is the name of the acid in an ant's sting?
IET & S H ITAT SATAATClT 37 il AT 7
SSCCGL17AUG-S3 : 40

(a) Acetic acid / TEfifee 33

(b) Citric acid / @S¢ HT

(c) Formic acid / wifaieh 313

(d) Lactic acid / eiepfcen 31l

(39) Which base is present in soap?
AT H T AT &TReh I ST 82
SSCCGL17AUG-S3 : 41

(a) Sodium hydroxide / TSI grEgrepaTsSs

(b) Silicon dioxide / HrelieheT STE3THATSS

(c) Calcium hydroxide / Helfa# gr8gFaEs

(d) Ammonium hydroxide / 3@ AT gTSgTHATSS

(40) Magnesium (Mg) + Oxygen (O,) = ?

HIEARZA (Mg) + 3Hfeestat (0,) = ?
SSCCGL18AUG-S2: 40

(a) Mg.0 (b) MgO.(c) O.Mg (d) MgO

(41) What is the reaction between an acid and a base
called?

37T 31T TR & ST gle aTolt 3TTATHAT T BT g
&

SSCCGL18AUG-S2 : 41

(a) Desalination / faerofreroT

(b) Crystallisation / fsh&celienioT
(c) Neutralisation / 3&T&aiIeh0T
(d) Sublimation / 3ereoT

(42) In an acid base reaction which product is
produced along with a salt?

379 3R &R 1 3t AToRaT & orgur & a1y iR Har
FeIdT 87

SSCCGL18AUG-S3:40

(a) Hydrogen gas / §1SaTotel 314

(b) Oxygen gas / JiTedIsT=T 1

(c) Carbon dioxide / FTee 3E3iTHASS

(d) Water / 91t

(43) Metals react with sodium hydroxide to produce

Free Study Material Join: Telegram.me/ExamsCart

SSCCGL18AUG-S1: 40

(a) oxygen gas 3iTedirstel 3F
BSNERE

(c) water STel
T

(b) sodium

(d) hydrogen gas &8sl

(44) What is the name of the acid in grapes?
3R A leT AT VRS IrT ST 82
SSCCGL19AUG-S1: 40

(a) Lactic acid / eiefean 31ael

(b) Formic acid / WIf&eh 31el

(c) Acetic acid / THifesh 31l

(d) Tartaric acid /eTERe 37T

(45) Which fibre is also called as artificial silk?
SoTH @ Tl T (BTSSR hY HiFH I el STl 67
SSCCGL19AUG-S1 : 41
(a) Nylon / TIelisT

(c) Polyester / diferdex
Ufehfelsd

(b) Rayon / Tt
(d) Acrylic /

(46) What are the main components of Bronze Alloy?
HIHT (STTeT) 81 T T 7T b FieT A 82
SSCCGL16AUG-S1 : 41

(a) Copper and Zinc / ?-fl/TslTH?JTWBT

(b) Copper and Tin / GICIGEIRIEN

(c) Zinc and Nickel / STEAT T2T foAcher

(d) Aluminium and Nickel / 3regH T T Aeher

(47) Which of the following causes fly ash?
AAATATET A & HleT-AT 357 TG T HROT §?
SSCCGL16AUG-S1 : 42

(a) Hydroelectric Power Station / Eﬂﬁﬂgﬁﬁ‘rm
(b) Coal Combustion Power Plant / IIeIT &geT Sl

Shelg

(c) Nuclear Power Plant / AR FolT 37
(d) Tidal Power Plant / STARIT il T

(48) Which one of the following is not a type of coal?
AT 3 & o7 Ueh PITer T Jeh 18T &7
SSCCGL16AUG-S2 : 37

(a) Anthracite TIH1SC  (b) Lignite fer=Tse

(c) Peat de (d) Siderite ig- 3eTehT

(49) Magnesium oxide (MgO) + Water (H.0) = ?
HINRITH 3iHaTss (MgO) + el (H.0) = ?
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SSCCGL19AUG-S2 : 40

(@) [Mg(OH)]
(c) IMg(O:H).]

(b) [MOg.(OH)]
(d) Mg(OH).]

(50) According to Central Pollution Control Board
(CPCB), particulate size micrometers or less in
diameter are responsible for causing the greatest
harm to human health.

HErT FeuoT fAGT0T §1S (Hrel) & 374K,
HATSHIHICT IT ol TR & 3THR o HIOTRIT TeTe ATTd
ALY & TIT Fd 378 JehaeeE & |
SSCCGL19AUG-S2 : 42
(@) 0.5 (b) 2.5 ©5

(d) 10

(517) Fire extinguishers emit which gas?
JaTforeeent & @ Sie-dr I Feerc §2
SSCCGL19AUG-S3: 40

(a) Carbon monoxide / Tl A=Y 3iTHASS
(b) Chlorine / Faillel

(c) Carbon dioxide / FTe TS 3THATSS

(

d) Nitrogen / sTSgItel

(52) What is formed when Magnesium is burnt?
HIATATH Y ST T HAT FeAT 872
SSCCGL19AUG-S3 : 41

(a) Baking Soda / SfehaT HiaT

(b) Calcium Carbonate / FelfRre srefac

(c) Ash / #gH

(d) Vinegar / Toer

(53) The salt concentration (measured as salinity in
parts per thousand), is less than _____ % in inland
waters.
TGUT T FigdT (I §STR HIIT H HIET H SdUTAT o 9 F
ATy I=AY), 37T LT ST A % ¥ FA B &1
SSCCGL19AUG-S3 : 42
(@5 (b) 20 (c) 50

(d) 75

(54) A change in which no new substances are formed
is called

ag aRkade Wﬁémw@iaﬁm
FEATT &

SSCCGL20AUG-S1: 40

(a) Physical Change / Aifaes aRadsT

(b) Chemical Change / I f=ieh IRETT
(c) Rusting / STaT o13TeAT

Free Study Material Join: Telegram.me/ExamsCart

(d) Galvanisation / T21E o9eT (ATdITEN2I=T)

(55) The property of metal by which it can be drawn
into wires is called

mﬁ*mwmm@wmﬁm

SSCCGL20AUG-S1 : 41
(a) malleability / 3TeTdaeifezar

QAT
(c) ductility / F=TadT(d) tensile strength / TeleT-ATAIT

(b) viscosity /

(56) Blue Vitriol is another name for which of the
following?
AT 7 & qicrar e 3 A1 82
SSCCGL21AUG-S1:40

(a) Copper Sulphate / IR Telthe

(b) Oxygen / Hep&Tatel

(c) Copper / &IIT

(d) Magnesium Oxide / HIRITH 3iTharss

(57) The rubbing surface of a matchbox has powdered
glass and a little red

mﬁvaﬁwﬁaﬁrwwaﬁamweﬁam

SSCCGL21AUG-S1 : 41
(a) antimony / TeIfcHaAT  (b) arsenic / 3R
(c) silicon / TafareplaT (d) phosphorus / BIEHRE

(58) Acetic Acid is another name for which of the
following?

afaf@a 7 & vaifes 3r7e fohaepT 313 =TT 87
SSCCGL21AUG-S2 : 40

(a) Vinegar / aRer

(b) Baking Soda / EIETKIE]

(c) Copper Sulphate / 19 Telthe

(d) Magnesium Oxide / HIRITH 3ifharss

(59) The reaction of Copper Sulphate and Iron
produces Iron Sulphate and

wmma:mmﬁmwm

SSCCGL21AUG-S2 : 41
(a) Vinegar / f&ReT
(c) Baking Soda / SfeRat &Yt

(b) Ash / ST
(d) Copper / IR

(60) Rusting is
ST AT gl
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SSCCGLO5AUG-S1: 40

(a) Electrolysis fag[er rqere=

(b) Oxidation 3ffereTeRToT

(c) Redox r eaction (Oxidation and Reduction)
Eied fRTHRAT (3iTereienoT 3R 3raage)

(d) Reduction 3T9TdsT

(61) Which amongst the following is not a Cation?
fAFATIAd & @ FleT AT Teh AT 78T 7
SSCCGLO5AUG-S1 : 41

(a) Aluminiumion Teg R 3=

(b) Copperion IO 3T

(c) Sulphateion Tethe 3Tl

(d) Zincion f5ie 3MI=T

(62) Which of the following is not a component of
Smog?

fFfATld A & FleT A1 Teh H-PIGY T T 61 57
SSCCGLO5AUG-S1: 42

(a) Volatil e organic compounds IRad=efer Sifash
i

(b) Nitrogen Oxide FATSEISTe 3iTFaTSS

(c) Sulphur dioxide Tethe 318 3iTFATES

(d) Chlorine oxide FaIReT 3ifFaTSS

(63) Oxide of which of the following will turn red
litmus blue?

AT 7 & v ATearss ot focad & el 7
garg?

SSCCGLO6AUG-S1 : 40

(a) Magnesium FfTRzrT

(b) Phosphorus BIERRY

(c) Sulphur HeWhT

(d) Carbon e

(64) Which of the following are highly compressible?
RArsfafEd # @ war wed iR d@fsg §?
SSCCGLO6AUG-S1 : 41

(a) Solid 3/ (b) Liquid g&@

(c) Gas 3T (d) Solid and Liquid a9 AR ga

(65) gases absorb long wave (infrared)
radiation from the earth and emit it again towards the
earth.

_ A qud@r @ e (3ravand) Rfaor e § 3k

el G T 3R SFSAe AL B
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SSCCGLO6AUG-ST : 42
(a) Methane #1d=1

(b) Greenhouse NG

(c) Carbon dioxide IesT STS3TFATSS
(d) Ozone 37l

(66) PET is a very familiar form of Ltis
used for making bottles.

e (M) Ueh a5 GARTIT PR T ___ 1 5h
3UART Sl Feflet & foll fohdT ST B
SSCCGLO6AUG-S3 : 40
(a) Nylon sTTSiisT
(c)Polyester gfferueex

(b) Acrylic Tfsrfor
(d) Rayon JfaT

(67) Which of the following gases is heavier than
oxygen?

frafafla # @ #iq @ 3 sifedes @ sy g g?
SSCCGLO6AUG-S3 : 41

(a) Carbon dioxide shIesT SIS3TTFATSS

(b) Ammonia 3rfaT
(c) Methane #Hida
(d) Helium gifersT

(68) Which acid is released when an Ant bites?
ST Tk A el g, o fond 31T 1 Rara grarg ?
SSCCGLO8AUG-S1 : 40

(a) Hydrochloric Acid / gT88IeFall e 31FeT

(b) Formic Acid / WTTHe& 31FdT

(c) Acetic Acid / Tafes 31FeT

(d) Phosphoric Acid / BIE®IR 37Fe

(69) Which among the following is an example of solid
sol?

AFATATET A @ FleT Teh 31 Aol I Teh 3EEROT & ?
SSCCGLO8AUG-S1 : 41

(a) Milk of magnesia / RT3ITaT Aes

(b) Foam / ®I#H

(c) Coloured gemstones / T3fieT (TeeT ) T2

(d) Rubber / T&X

(70) Brownish film formed on iron when left in open is
called?

g N Gol H SISl I 38 9T i1 [ el ST el & 38

FITFEd 8 ?
SSCCGL23AUG-S3:40
(a) Dust ig\?»r

(c) Spade @feTaT

(b) Shovel eraer
(d) Rust 33T
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(71) The substances which have very low ignition
temperature and can easily catch fire with a flame are
called substances.

ST 9eTe) 7 Sl AT Tgd A el & 3R S Srel 5
HIY TG 37197 Iehs ol & gerd Fged
gl

SSCCGL23AUG-S3 : 41
(a) hazardous @d=ITsh
ST

(c) incombustible 31eTaT
Sacterefer

(b) perilous

(d) inflammable

(72) A change in which a substance undergoes a
change in its physical properties is called

g IR foae el verd o sffaien ot & 3 qRadT @ E’f
SAE, FEA S |

SSCCGL20AUG-S2 : 40

(a) Chemical Properties / I faIsh I[0T

(b) Physical Properties / #ilfcieh 30T

(c) Chemical Change / I fieh TRacTT

(d) Physical Change / Mo gRads

(73) The process of depositing a layer of zinc on iron
is called
@?Wﬁa%mmﬁwmaﬁwmb
SSCCGL20AUG-S2 : 41

(a) Galvanisation / T2I¢ of9eT (3ed

(b) Crystallisation / fsheceitertor

(c) Rusting / STaT 3T

(d) Baking / SfeRaT

(74) Fabric made from

easily.

A ¥ HUs H IR A fAenac A8 usdr|
SSCCGL22AUG-S3 : 40
(a) Cotton / &rurdH

(c) Silk / XeTH

does not get wrinkled

(b) Flax / 9cdeT
(d) Polyester / gfferdex

(75) What is formed when Carbon Dioxide is passed
through Lime Water?

STe TS STSHTFATSS T oA & UTelt F YaTfeel ST g A
FIT FAT &7

SSCCGL22AUG-S3 : 41

(a) Copper Sulphate / HIMR Tehe

(b) Calcium Carbonate / &fcaas Ssilsic

(c) Magnesium Oxide / IR JTearss
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(d) Baking Soda / ST &YsT

(76) The salt concentration (measured as salinity in
parts per thousand), is greater than % in
hypersaline lagoons.

GUT T AT (I §TR H19T H SIFOTAT 6 FT F AT
), il sfdeaa T o A 0% @ 37feres gl

gl

SSCCGL22AUG-S3 : 42

(a) 50 (b) 100 () 150
(d) 200

(77) Chemical formula for sulphurous acid is:
TEFYTH 3l T AT T F7 87
SSCCGL23AUG-S1: 40

(@) H.SO, (b) H.SO;(c) HSO; (d) HSO.

(78) The temperature at which a solid melts to
become a liquid at the atmospheric pressure is called
its

mmwmﬁumaaaﬂm%a?mw
FEeldl gl

SSCCGL23AUG-S1 : 41

(a) Crystal lisation / fshEceiteroT

b) Melting p oint / 3TeTsTieh

(
(c) Evap oration / aTsdIeRIoT
(d) Galvan isation / T21¢ ogel

(79) is the interaction in which one species
benefits and the other is neither harmed nor
benefited.

g U IREIRe fonam & @ vk STl st
AT BT & 3R gl bl of g1t F o e Bl
SSCCGL23AUG-S1: 42
(a) Predation / 9I#H&T

FgAIfaar
(c) Competition / TTET  (d) Parasitism / GaiTadr

(b) Commensalism /

(80) Crystallisation is an example of?
ThECeiehtoT fehrehT 3eTeeoT 87
SSCCGL22AUG-S1: 40

(a) Physical Change / #ifas aRade

(b) Chemical Change / IraTfsTeh IRET
(c) Chemical React ion / Tr@TRAaTes 31fATHAT

(d) Galvanisation / T21e oge (AT ATSALI=)

(81) Vinegar and Baking Soda together produce
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FaeRT 31T SfehaT ArsT Hr 3fATHIT T FATTAATE?
SSCCGL22AUG-S1 : 41

(a) Copper / SR

(b) Carbon Dioxide / FIeeT 318 HTHATSS

(c) Copper Sulphate / IR Telthe

(d) Magnesium Oxide / HIHAITRITA 3ifharss

(82) The salt concentration (measured as salinity in
parts per thousand), is % in sea.

AGOT T el (Al §oIR HET H SIquTdT o &9 H AGT
), G A % B &
SSCCGL22AUG-S1:42
(@) 10-20 (b) 30-35 (c) 40-50

(d) 60-70

(83) is made by mixing iron with carbon and
metals like chromium, nickel and manganese.
g # e 3R wifATH A aUr AT
St T3t T FeTRY ST ST |
SSCCGL23AUG-S2 : 40

(a) Ship ST&TsT (b) Stainless Steel T&ToI®
e

(c) Rust SaT (d) Ozone 3=l

(84) The melting point of iceis ___ K.

Th HT AR KEI

SSCCGL23AUG-S2 : 41

(a) 253.16 (b) 263.16 (c) 273.16
(d) 283.16

(85) is obtained by evaporation of sea.
T TG STe o TS o S@RT T FohaT SIT Fehell

gl
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SSCCGL20AUG-S3 : 40
(a) Sugar AT

(c) Salt sTH%H
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(b) Iron TgT
(d) Steel Tt



